Infinite sum representation algorithm of continued fraction expansions, II

Takao Komatsu

Department of Mathematical System Science Faculty of Science and Technology Hirosaki University, Hirosaki, 036-8561, Japan komatsu@cc.hirosaki-u.ac.jp

MR Subject Classifications: 11A55, 11J70, 11Y16 Key words: Continued fractions, Infinite sums

Abstract

A reverse algorithm of continued fractions toward real numbers via power series was presented at the meeting of JANT in May 2003. This algorithm works well if every partial quotient of the continued fraction is larger than 1. However, it does not always reflect the facts if there are many 1's in the partial quotients. This article shows some methods how to compensate such a defect.

1 Introduction

For any real number α , its continued fraction $\alpha = [a_0; a_1, a_2, a_3, \dots]$ can be uniquely expressed by the algorithm:

$$\alpha = a_0 + (1/\alpha_1),$$
 $a_0 = \lfloor \alpha \rfloor,$
 $\alpha_n = a_n + (1/\alpha_{n+1}),$ $a_n = \lfloor \alpha_n \rfloor$ $(n = 1, 2, ...).$

Namely,

$$[a_0; a_1, a_2, a_3, \dots] = a_0 + \frac{1}{a_1 + \frac{1}{a_2 + \frac{1}{a_3 + \dots}}}.$$

However, on the contrary, for any given sequence of partial quotients $a_0, a_1, a_2, a_3, \ldots$, is there any general algorithm to find the real number yielding the continued fraction expansion $[a_0; a_1, a_2, a_3, \ldots]$? If the partial quotients is finite, it is not difficult to find its corresponding rational number. If it is infinite and periodic, it is still possible to find its corresponding quadratic irrational number. But in the other cases it is too hard to find an explicit or recognizable form of its corresponding real number from the continued fraction.

The following reverse algorithm of continued fractions toward real numbers via power series was presented at the 10th meeting of JANT in May 2003.

Theorem A Let Q(k) be a function in k which takes positive integral values for $k = 1, 2, \ldots$ Then

$$[0; \overline{Q(k)}]_{k=1}^{\infty} = \frac{\sum_{n=0}^{\infty} c'_n}{\sum_{n=0}^{\infty} c_n} = \frac{1}{Q(1)} \sum_{n=1}^{\infty} (-1)^{n-1} s_{n,1},$$

where for n = 0, 1, 2, ...

$$c'_n = \frac{1}{Q(1)}(c_n - c_{n-1}s_{1,1} + c_{n-2}s_{2,1} - \dots + (-1)^{n-1}c_1s_{n-1,1} + (-1)^nc_0s_{n,1})$$

and for $k \ge 1$

$$s_{n,k} = \frac{1}{Q(k)Q(k+1)}(s_{n-1,1} + s_{n-1,2} + \dots + s_{n-1,k+1}) \quad (n \ge 2)$$

with

$$s_{1,k} = \frac{1}{Q(k)Q(k+1)}$$
 and $s_{0,k} = 1$.

One of the immediate applicable forms is as follows.

Corollary B Let Q(k) be a function in k which takes positive integral values for $k = 1, 2, \ldots$ Then

$$[0; \overline{Q(k)}]_{k=1}^{\infty} = \frac{\frac{1}{Q(1)} \left(1 + \frac{1}{Q(2)Q(3)} \sum_{n=1}^{\infty} (-1)^{n-1} d_{n,1} \right)}{1 + \frac{1}{Q(1)Q(2)} + \frac{1}{Q(2)Q(3)} \sum_{n=1}^{\infty} (-1)^{n-1} d_{n,1}},$$

where for $k \geq 1$

$$d_{n,k} = \frac{1}{Q(k+2)Q(k+3)}(d_{n-1,1} + d_{n-1,2} + \dots + d_{n-1,k+1}) \quad (n \ge 3)$$

with

$$d_{2,k} = \frac{1}{Q(k+2)Q(k+3)}$$
 and $d_{1,1} = 1$.

This algorithm is valid for any pattern of continued fraction expansion as long as the sum above converges. For example, if $a_k \geq 2$ for all $k \geq 1$, then the series in Theorem A and Corollary B converges.

Example 1 Let a be a positive integer, u be rational so that ua is a positive integer. Then

$$[0; \overline{ua^k}]_{k=1}^{\infty} = \frac{\sum_{s=0}^{\infty} u^{-2s-1} a^{-(s+1)^2} \prod_{i=1}^{s} (a^{2i} - 1)^{-1}}{\sum_{s=0}^{\infty} u^{-2s} a^{-s^2} \prod_{i=1}^{s} (a^{2i} - 1)^{-1}}.$$

Example 2

$$\begin{split} &[0;1^2,2^2,3^2,4^2,\dots] = [0;\overline{k^2}]_{k=1}^{\infty} \\ &= \frac{1 + \frac{1}{36} \left(1 - \frac{1}{144} + \frac{17}{259200} - \frac{149}{233280000} + \frac{257063}{411505920000000} - \cdots \right)}{1 + \frac{1}{4} + \frac{1}{36} \left(1 - \frac{1}{144} + \frac{17}{259200} - \frac{149}{2332800000} + \frac{257063}{4115059920000000} - \cdots \right)} \,. \end{split}$$

$$[0; 1^{2}, 2^{2}, 3^{2}, 4^{2}, \dots]$$

$$= 1 - \frac{1}{4} + \frac{5}{72} - \frac{401}{20736} + \frac{201017}{37324800} - \frac{100767923}{67184640000} + \frac{2475186587813}{5925685248000000} - \dots$$

Example 3

$$\begin{split} &[0;q^{\binom{0}{2}},q^{\binom{1}{2}},q^{\binom{2}{2}},q^{\binom{3}{2}},q^{\binom{4}{2}},\dots] = [0;\overline{q^{\binom{k-1}{2}}}]_{k=1}^{\infty} \\ &= \frac{1+q^{-1}-q^{-5}+q^{-5}(q^{-4}+q^{-9})-q^{-5}(q^{-4}(q^{-4}+q^{-9})+q^{-9}(q^{-4}+q^{-9}+q^{-16}))+\dots}{2+q^{-1}-q^{-5}+q^{-5}(q^{-4}+q^{-9})-q^{-5}(q^{-4}(q^{-4}+q^{-9})+q^{-9}(q^{-4}+q^{-9}+q^{-16}))+\dots}\,, \end{split}$$

where $\binom{n}{2}$ are binomial coefficients with $\binom{0}{2} = \binom{1}{2} = 0$.

Example 4

$$[0; F_0, F_1, F_2, F_3, \dots] = [0; 1, 1, 2, 3, 5, 8, 13, \dots]$$

$$= \frac{1 + \frac{1}{2} \left(1 - \frac{1}{6} + \frac{7}{180} - \frac{101}{10800} + \frac{19009}{8424000} - \frac{25053317}{45995040000} + \frac{561357912257}{4269259612800000} - \dots\right)}{2 + \frac{1}{2} \left(1 - \frac{1}{6} + \frac{7}{180} - \frac{101}{10800} + \frac{19009}{8424000} - \frac{25053317}{45995040000} + \frac{561357912257}{4269259612800000} - \dots\right)},$$

where $\{F_n\}$ are Fibonacci numbers defined by $F_0 = F_1 = 1$ and $F_n = F_{n-1} + F_{n-2}$ $(n \ge 2)$.

2 Does this algorithm really retrieve the original real number?

For instance, we shall consider a simple case. Let $Q(k) = a \ (k = 1, 2, ...)$ in Corollary B, where a is an integer with a > 1. Then

$$d_{2,k} = \frac{1}{a^2}, \quad d_{3,k} = \frac{k+1}{a^3}, \quad d_{4,k} = \frac{(k+1)(k+4)}{2a^6}, \quad \dots$$

In general, we have

$$d_{n,k} = \frac{(k+1)(2n+k-4)!}{(n-2)!(n+k-1)!a^{2n-2}}.$$

Hence,

$$d_{n,1} = \frac{2(2n-3)!}{(n-2)!n!a^{2n-2}}.$$

Since

$$\sqrt{1 + \frac{4}{a^2}} = 1 + \sum_{n=1}^{\infty} \frac{\frac{1}{2}(\frac{1}{2} - 1) \cdots (\frac{1}{2} - (n-1))}{n!} \left(\frac{4}{a^2}\right)^n$$
$$= 1 + \frac{2}{a^2} + \frac{4}{a^2} \sum_{n=1}^{\infty} \frac{(-1)^n (2n-1)!}{(n-1)!(n+1)! a^{2n}},$$

we have

$$[0; a, a, \dots] = \frac{\frac{1}{a} \left(1 + \frac{1}{a^2} \left(1 + \sum_{n=2}^{\infty} \frac{2(-1)^{n-1}(2n-3)!}{(n-2)!n!a^{2n-2}} \right) \right)}{1 + \frac{1}{a^2} + \frac{1}{a^2} \left(1 + \sum_{n=2}^{\infty} \frac{2(-1)^{n-1}(2n-3)!}{(n-2)!n!a^{2n-2}} \right)}$$

$$= \frac{\frac{1}{a} \left(1 + \frac{1}{a^2} \left(1 + 2\sum_{n=1}^{\infty} \frac{(-1)^n(2n-1)!}{(n-1)!(n+1)!a^{2n}} \right) \right)}{1 + \frac{1}{a^2} + \frac{1}{a^2} \left(1 + 2\sum_{n=1}^{\infty} \frac{(-1)^n(2n-1)!}{(n-1)!(n+1)!a^{2n}} \right)}$$

$$= \frac{\frac{1}{a} \left(1 + \frac{\sqrt{a^2 + 4} - a}{2a} \right)}{1 + \frac{1}{a^2} + \frac{\sqrt{a^2 + 4} - a}{2a}} = \frac{\sqrt{a^2 + 4} - a}{2},$$

as expected.

However, if a = 1, then the power series $\sum_{n=1}^{\infty} (-1)^{n-1} d_{n,1}$ does not converge. See Example 8 below.

Consider the case where $\alpha = [0; 1, 1, 1, 2, 1, 3, 1, 4, 1, 5, \dots]$. If we apply Corollary B above, then we calculate $d_{2,1} = 1/2$, $d_{3,1} = 1/2$, $d_{4,1} = 7/12$, $d_{5,1} = 13/18$, $d_{6,1} = 397/432$, $d_{7,1} = 3073/2592$, $d_{8,1} = 119807/77760$, $d_{9,1} = 4689709/2332800$, $d_{10,1} = 183987383/69984000$, But, this yields the unexpected simple continued fraction $[0; 5, 15, 1, 2, 1, 27, \dots]$ instead of the desired one $[0; 1, 1, 1, 2, 1, 3, 1, 4, 1, 5, \dots]$.

Hence, if 1 appears so often in the partial quotients, Theorem A with Corollary B cannot be applied directly as it is.

3 Main result

We shall describe a more general algorithm which can be applied to the case where 1 appears very often and regularly in the sequence of partial quotients. By using Theorem 1 below we properly have the desired simple continued fraction.

Let
$$\epsilon_k = 1$$
 or -1 $(k = 2, 3, ...)$, and $S(k) = \epsilon_{k+1}/(a_k a_{k+1})$ $(k = 1, 2, ...)$.

Theorem 1

$$\frac{1}{a_1 + \frac{\epsilon_2}{a_2 + \frac{\epsilon_3}{a_3 + \dots}}} = \frac{\sum_{n=0}^{\infty} c'_n}{\sum_{n=0}^{\infty} c_n} = \frac{1}{a_1} \sum_{n=0}^{\infty} (-1)^{n-1} s_{n,1},$$

where for n = 0, 1, 2, ...

$$c'_{n} = \frac{1}{a_{1}}(c_{n} - c_{n-1}s_{1,1} + c_{n-2}s_{2,1} - \dots + (-1)^{n-1}c_{1}s_{n-1,1} + (-1)^{n}c_{0}s_{n,1})$$

and for $k \ge 1$

$$s_{n,k} = (s_{n-1,1} + s_{n-1,2} + \dots + s_{n-1,k+1})S(k) \quad (n \ge 2)$$

with $s_{1,k} = S(k)$ and $s_{0,k} = 1$.

One of the immediate applicable forms is as follows.

Corollary 1

$$\frac{1}{a_1 + \frac{\epsilon_2}{a_2 + \frac{\epsilon_3}{a_3 + \dots}}} = \frac{1 + S(2) \sum_{n=1}^{\infty} (-1)^{n-1} d_{n,1}}{a_1 \left(1 + S(1) + S(2) \sum_{n=1}^{\infty} (-1)^{n-1} d_{n,1}\right)} = \frac{1}{a_1} \sum_{n=1}^{\infty} (-1)^{n-1} s_{n,1},$$

where for $k \ge 1$

$$d_{n,k} = (d_{n-1,1} + d_{n-1,2} + \dots + d_{n-1,k+1})S(k+2) \quad (n \ge 3)$$

with $d_{2,k} = S(k+2)$ and $d_{1,1} = 1$.

Furthermore,

$$\frac{1}{a_3 + \frac{\epsilon_4}{a_4 + \frac{\epsilon_5}{a_5 + \dots}}} = \frac{1}{a_3} \sum_{n=1}^{\infty} (-1)^{n-1} d_{n,1}.$$

If $\epsilon_2 = \epsilon_3 = \epsilon_4 = \cdots = 1$, then this is just Theorem A with Corollary B.

4 Application I (Negative continued fractions)

If $\epsilon_2 = \epsilon_3 = \epsilon_4 = \cdots = -1$, then this is called the *negative* continued fraction expansion. The negative continued fraction expansion of a real α with $0 < \alpha < 1$ is denoted by

$$\alpha = {}^{-}[0; a_1, a_2, a_3, \dots] = \frac{1}{a_1 - \frac{1}{a_2 - \frac{1}{a_3 - \dots}}}$$

where the integers $a_i \geq 2$ are generated by ceiling functions rather than floor functions in the continued fraction algorithm:

$$\theta_0 = \{\alpha\},\$$

$$1/\theta_{n-1} = a_n - \theta_n, \qquad a_n = \lceil 1/\theta_{n-1} \rceil \qquad (n \ge 1).$$

with corresponding convergents $p_n/q_n = [0; a_1, \ldots, a_n]$ given by

$$p_n = a_n p_{n-1} - p_{n-2}$$
 $(n \ge 1)$, $p_0 = 0$, $p_{-1} = -1$, $q_n = a_n q_{n-1} - q_{n-2}$ $(n \ge 1)$, $q_0 = 1$, $q_{-1} = 0$.

A simple continued fraction expansion can be transformed into a negative continued fraction expansion by the following rule;

$$-[0; a_1, a_2, a_3, \dots] = [0; a_1 - 1, 1, a_2 - 2, 1, a_3 - 2, 1, a_4 - 2, 1, \dots].$$

In this continued fractions 1 appears every second time in the sequence of partial quotients.

When $[0; a_1, a_2, a_3, \ldots]$ corresponds to the tanh-type continued fraction, $[0; a_1, a_2, a_3, \ldots]$ corresponds to the tan-type continued fraction. In this special case, Theorem 1 can be reduced as follows.

Theorem 2 If $a_1 > 1$ and $a_k > 2$ $(k \ge 2)$, then

$${}^{-}[0; a_1, a_2, \dots] = [0; a_1 - 1, \overline{1, a_k - 2}]_{k=2}^{\infty} = \frac{\sum_{n=0}^{\infty} c'_n}{\sum_{n=0}^{\infty} c_n} = \frac{1}{a_1} \sum_{n=0}^{\infty} s_{n,1},$$

where for n = 0, 1, 2, ...

$$c'_{n} = \frac{1}{a_{1}}(c_{n} + c_{n-1}s_{1,1} + c_{n-2}s_{2,1} + \dots + c_{1}s_{n-1,1} + c_{0}s_{n,1})$$

and for k > 1

$$s_{n,k} = \frac{1}{a_k a_{k+1}} \sum_{i=1}^{k+1} s_{n-1,i} \quad (n \ge 2)$$

with

$$s_{1,k} = \frac{1}{a_k a_{k+1}}$$
 and $s_{0,k} = 1$.

Corollary 2 If $a_1 > 1$ and $a_k > 2$ $(k \ge 2)$, then

$$^{-}[0; a_1, a_2, \dots] = [0; a_1 - 1, \overline{1, a_k - 2}]_{k=2}^{\infty}
= \frac{\frac{1}{a_1} \left(1 - \frac{1}{a_2 a_3} (1 + \sum_{n=2}^{\infty} d_{n,1}) \right)}{1 - \frac{1}{a_1 a_2} - \frac{1}{a_2 a_3} (1 + \sum_{n=2}^{\infty} d_{n,1})},$$

where for $k \ge 1$

$$d_{n,k} = \frac{1}{a_{k+2}a_{k+3}} \sum_{i=1}^{k+1} d_{n-1,i} \quad (n \ge 3)$$

with

$$d_{2,k} = \frac{1}{a_{k+2}a_{k+3}}.$$

Furthermore,

$$^{-}[0; a_3, a_4, \dots] = [0; a_3 - 1, \overline{1, a_k - 2}]_{k=4}^{\infty} = \frac{1}{a_3} \sum_{n=1}^{\infty} d_{n,1}.$$

Example 5 Set $a_k = k+1$ in Theorem 2. From $d_{2,1} = 1/20$, $d_{3,1} = 1/240$, $d_{4,1} = 13/33600$, $d_{5,1} = 1/26880$, $d_{6,1} = 263/72576000$, $d_{7,1} = 103/290304000$, $d_{8,1} = 15563/447068160000$, $d_{9,1} = 55019/16094453760000$, $d_{10,1} = 127753/380414361600000$, ..., we have

$$\begin{split} &[0;1,1,1,2,1,3,1,4,1,5,\dots] = [0;\overline{1,k}]_{k=1}^{\infty} \\ &= \frac{2\left(1-\frac{1}{6}-\frac{1}{12}(1+\frac{1}{20}+\frac{1}{240}+\frac{13}{33600}+\frac{1}{26880}+\frac{263}{72576000}+\frac{103}{290304000}+\cdots)\right)}{1-\frac{1}{12}(1+\frac{1}{20}+\frac{1}{240}+\frac{13}{33600}+\frac{1}{26880}+\frac{263}{72576000}+\frac{103}{290304000}+\cdots)} = \frac{1-\frac{1}{3}-\frac{1}{12}(1+\frac{1}{20}+\frac{1}{240}+\frac{13}{33600}+\frac{1}{26880}+\frac{263}{72576000}+\frac{103}{290304000}+\cdots)}{1-\frac{1}{12}(1+\frac{1}{20}+\frac{1}{240}+\frac{13}{33600}+\frac{1}{26880}+\frac{263}{72576000}+\frac{103}{290304000}+\cdots)} \,. \end{split}$$

Example 6 Set $a_k = (2k-1)a$ in Theorem 2, where a is an integer with a > 1. When

$$c_k = \frac{(-1)^k}{(2k)!a^{2k}}$$
 $(k = 0, 1, 2, \dots, n),$

we can get

$$c'_n = \frac{(-1)^n}{(2n+1)!a^{2n+1}}.$$

Thus,

$$\begin{array}{l}
-[0;\overline{(2k-1)a}]_{k=1}^{\infty} = [0;a-1,\overline{1,(2k+1)a-2}]_{k=1}^{\infty} \\
= \frac{\sum_{n=0}^{\infty} c'_n}{\sum_{n=0}^{\infty} c_n} = \frac{\sum_{n=0}^{\infty} \frac{(-1)^n}{(2n+1)!a^{2n+1}}}{\sum_{n=0}^{\infty} \frac{(-1)^n}{(2n)!a^{2n}}} = \frac{\sin\frac{1}{a}}{\cos\frac{1}{a}} = \tan\frac{1}{a}.
\end{array}$$

5 Application II

If $\epsilon_2 = \epsilon_4 = \cdots = -1$ and $\epsilon_3 = \epsilon_5 = \cdots = 1$, the general continued fraction is transformed to the following simple continued fraction;

$$\frac{1}{a'_1} - \frac{1}{a'_2} + \frac{1}{a'_3} - \frac{1}{a'_4} + \frac{1}{a'_5} - \dots
= [0; a'_1, -a'_2, -a'_3, a'_4, a'_5, -a'_6, -a'_7, \dots]
= [0; a'_1 - 1, 1, a'_2 - 1, a'_3, -a'_4, -a'_5, a'_6, a'_7, \dots]
= [0; a'_1 - 1, 1, a'_2 - 1, a'_3 - 1, 1, a'_4 - 1, 1, a'_5, -a'_6, -a'_7, \dots] = \dots
= [0; a'_1 - 1, 1, a'_2 - 1, a'_3 - 1, 1, a'_4 - 1, 1, a'_5 - 1, 1, a'_6 - 1, \dots].$$

In this case, Theorem 1 with Corollary 1 can be reduced as follows.

Theorem 3 If $a_k > 1$ $(k \ge 1)$, then

$$[0; \overline{a_{2k-1}-1, 1, a_{2k}-1}]_{k=1}^{\infty} = \frac{\sum_{n=0}^{\infty} c'_n}{\sum_{n=0}^{\infty} c_n} = \frac{1}{a_1} \sum_{n=0}^{\infty} (-1)^{n-1} s_{n,1},$$

where for n = 0, 1, 2, ...

$$c'_{n} = \frac{1}{a_{1}}(c_{n} - c_{n-1}s_{1,1} + c_{n-2}s_{2,1} - \dots + (-1)^{n-1}c_{1}s_{n-1,1} + (-1)^{n}c_{0}s_{n,1})$$

and for $k \ge 1$

$$s_{n,k} = \frac{(-1)^k}{a_k a_{k+1}} \sum_{i=1}^{k+1} s_{n-1,i} \quad (n \ge 2)$$

with

$$s_{1,k} = \frac{(-1)^k}{a_k a_{k+1}}$$
 and $s_{0,k} = 1$.

Corollary 3 If $a_k > 1$ $(k \ge 1)$, then

$$[0; \overline{a_{2k-1}-1, 1, a_{2k}-1}]_{k=1}^{\infty} = \frac{\frac{1}{a_1} \left(1 + \frac{1}{a_2 a_3} \sum_{n=1}^{\infty} (-1)^{n-1} d_{n,1}\right)}{1 - \frac{1}{a_1 a_2} + \frac{1}{a_2 a_3} \sum_{n=1}^{\infty} (-1)^{n-1} d_{n,1}},$$

where for $k \geq 1$

$$d_{n,k} = \frac{(-1)^k}{a_{k+2}a_{k+3}} \sum_{i=1}^{k+1} d_{n-1,i} \quad (n \ge 3)$$

with

$$d_{2,k} = \frac{(-1)^k}{a_{k+2}a_{k+3}}$$
 and $d_{1,1} = 1$.

Furthermore,

$$[0; \overline{a_{2k-1}-1, 1, a_{2k}-1}]_{k=2}^{\infty} = \frac{1}{a_3} \sum_{n=1}^{\infty} (-1)^{n-1} d_{n,1}.$$

Example 7 Put $a_{2k-1} = (2k-1)s$ $(s \ge 2)$ and $a_{2k} = 2$ (k = 1, 2, ...) in Corollary 3. Then by

$$d_{2,1} = -\frac{1}{6s}$$
 $d_{3,1} = \frac{1}{90s^2}$ $d_{4,1} = \frac{1}{1080s^3}$ $d_{5,1} = -\frac{1}{4536s^4}$...

we have

$$e^{1/s} - 1 = [0; \overline{(2k-1)s - 1, 1, 1}]_{k=1}^{\infty}$$

$$= \frac{\frac{1}{s} \left(1 + \frac{1}{6s} \left(1 + \frac{1}{6s} + \frac{1}{90s^2} - \frac{1}{1080s^3} - \frac{1}{4536s^4} + \cdots \right) \right)}{1 - \frac{1}{2s} + \frac{1}{6s} \left(1 + \frac{1}{6s} + \frac{1}{90s^2} - \frac{1}{1080s^3} - \frac{1}{4536s^4} + \cdots \right)}.$$

This can also be applied to $e - 1 = [1; 1, 2, 1, 1, 4, 1, 1, 6, 1, \ldots]$, simply setting s = 1.

Example 8 Put $a_k = 2$ (k = 1, 2, ...) in Corollary 3. Then we note $d_{2,1} = -1/4$, $d_{4,1} = 1/64$, $d_{6,1} = -1/512$, $d_{8,1} = 5/16384$, $d_{10,1} = -7/131072$, $d_{12,1} = 21/2097152$, $d_{14,1} = -33/16777216$, $d_{16,1} = 429/1073741824$, ... and $d_{3,1} = d_{5,1} = d_{7,1} = \cdots = 0$, and so we have

$$[0;1,1,1,\ldots] = \frac{\frac{1}{2} \left(1 + \frac{1}{4} \left(1 + \frac{1}{4} - \frac{1}{64} + \frac{1}{512} - \frac{5}{16384} + \frac{7}{131072} - \frac{21}{2097152} + \ldots \right) \right)}{1 - \frac{1}{4} + \frac{1}{4} \left(1 + \frac{1}{4} - \frac{1}{64} + \frac{1}{512} - \frac{5}{16384} + \frac{7}{131072} - \frac{21}{2097152} + \ldots \right)}.$$

The right-hand side should be equal to $(\sqrt{5}-1)/2$. Indeed, by induction we have for $n=1,2,\ldots$ and $k=1,2,\ldots$

$$d_{2n,2k-1} = \frac{(-1)^n k(k+2n-3)!}{(n-1)!(k+n-1)!4^{2n-1}}, \qquad d_{2n,2k} = \frac{(-1)^{n+1} k(k+2n-3)!}{(n-1)!(k+n-1)!4^{2n-1}},$$

$$d_{2n+1,2k-1} = 0, \qquad \qquad d_{2n+1,2k} = \frac{(-1)^n (k+1)(k+2n-2)!}{(n-1)!(k+n)!4^{2n}}.$$

Since

$$\sqrt{1 + \frac{4}{a^2}} = 1 + \sum_{n=1}^{\infty} \frac{\frac{1}{2}(\frac{1}{2} - 1) \cdots (\frac{1}{2} - (n-1))}{n!} \left(\frac{4}{a^2}\right)^n$$
$$= 1 + \frac{2}{a^2} + \frac{4}{a^2} \sum_{n=1}^{\infty} \frac{(-1)^n (2n-1)!}{(n-1)!(n+1)!a^{2n}},$$

we have

$$\sum_{n=1}^{\infty} (-1)^{n-1} d_{n,1} = 1 - \sum_{n=1}^{\infty} \frac{(-1)^n (2n-2)!}{(n-1)! n! 4^{2n-1}}$$
$$= 1 + \frac{1}{4} + \frac{1}{2} \sum_{n=1}^{\infty} \frac{(-1)^n (2n-1)!}{(n-1)! (n+1)! 4^{2n}} = \sqrt{5} - 1,$$

yielding

$$\frac{\frac{1}{2}\left(1+\frac{1}{4}\sum_{n=1}^{\infty}(-1)^{n-1}d_{n,1}\right)}{1-\frac{1}{4}+\frac{1}{4}\sum_{n=1}^{\infty}(-1)^{n-1}d_{n,1}} = \frac{\frac{1}{2}\left(1+\frac{1}{4}(\sqrt{5}-1)\right)}{1-\frac{1}{4}+\frac{1}{4}(\sqrt{5}-1)}$$
$$=\frac{\sqrt{5}-1}{2} = [0;1,1,1,\dots].$$

6 Application III

Put

$$\epsilon_k = \begin{cases}
-1, & \text{if } k \equiv 2 \pmod{4}; \\
1, & \text{otherwise.}
\end{cases}$$

Then

$$\frac{1}{a'_{1}} - \frac{1}{a'_{2}} + \frac{1}{a'_{3}} + \frac{1}{a'_{4}} + \frac{1}{a'_{5}} - \frac{1}{a'_{6}} + \frac{1}{a'_{7}} + \frac{1}{a'_{8}} + \frac{1}{a'_{9}} - \frac{1}{a'_{10}} + \frac{1}{a'_{11}} + \frac{1}{a'_{12}} + \cdots
= [0; a'_{1}, -a'_{2}, -a'_{3}, -a'_{4}, -a'_{5}, a'_{6}, a'_{7}, a'_{8}, a'_{9}, -a'_{10}, -a'_{11}, -a'_{12}, -a'_{13}, a'_{14}, \dots]
= [0; a'_{1} - 1, 1, a'_{2} - 1, a'_{3}, a'_{4}, a'_{5} - 1, 1, a'_{6} - 1, a'_{7}, a'_{8}, a'_{9} - 1, 1, a'_{10} - 1, \dots].$$

In this case, Theorem 1 with Corollary 1 can be reduced as follows.

Theorem 4 If $a_{4k-3} > 1$ and $a_{4k-2} > 1$ $(k \ge 1)$, then

$$[0; \overline{a_{4k-3}-1, 1, a_{4k-2}-1, a_{4k-1}, a_{4k}}]_{k=1}^{\infty} = \frac{\sum_{n=0}^{\infty} c'_n}{\sum_{n=0}^{\infty} c_n} = \frac{1}{a_1} \sum_{n=0}^{\infty} (-1)^{n-1} s_{n,1},$$

where for n = 0, 1, 2, ...

$$c'_{n} = \frac{1}{a_{1}}(c_{n} - c_{n-1}s_{1,1} + c_{n-2}s_{2,1} - \dots + (-1)^{n-1}c_{1}s_{n-1,1} + (-1)^{n}c_{0}s_{n,1})$$

and for $k \ge 1$

$$s_{n,k} = \frac{\epsilon_{k+1}}{a_k a_{k+1}} \sum_{i=1}^{k+1} s_{n-1,i} \quad (n \ge 2)$$

with

$$s_{1,k} = \frac{\epsilon_{k+1}}{a_k a_{k+1}}$$
 and $s_{0,k} = 1$.

Corollary 4 If $a_{4k-3} > 1$ and $a_{4k-2} > 1$ $(k \ge 1)$, then

$$[0; \overline{a_{4k-3}-1, 1, a_{4k-2}-1, a_{4k-1}, a_{4k}}]_{k=1}^{\infty} = \frac{\frac{1}{a_1} \left(1 + \frac{1}{a_2 a_3} \sum_{n=1}^{\infty} (-1)^{n-1} d_{n,1}\right)}{1 - \frac{1}{a_1 a_2} + \frac{1}{a_2 a_3} \sum_{n=1}^{\infty} (-1)^{n-1} d_{n,1}},$$

where for $k \ge 1$

$$d_{n,k} = \frac{\epsilon_{k+1}}{a_{k+2}a_{k+3}} \sum_{i=1}^{k+1} d_{n-1,i} \quad (n \ge 3)$$

with

$$d_{2,k} = \frac{\epsilon_{k+1}}{a_{k+2}a_{k+3}}$$
 and $d_{1,1} = 1$.

Furthermore,

$$[0; \overline{a_{4k-1}, a_{4k}, a_{4k+1} - 1, 1, a_{4k+2} - 1}]_{k=1}^{\infty} = \frac{1}{a_3} \sum_{n=1}^{\infty} (-1)^{n-1} d_{n,1}.$$

Example 9 Put $a_{4k-3} = a_{4k-1} = 3k$, $a_{4k-2} = 2$ and $a_{4k} = 12k + 6$ (k = 1, 2, ...) in Corollary 4. Then this continued fraction equals

$$[0; \overline{3k-1, 1, 1, 3k, 12k+6}]_{k=1}^{\infty} = \frac{\frac{1}{3} \left(1 + \frac{1}{6} \left(1 - \frac{1}{54} + \frac{1}{1944} - \cdots\right)\right)}{1 - \frac{1}{6} + \frac{1}{6} \left(1 - \frac{1}{54} + \frac{1}{1944} - \cdots\right)}$$
$$= 0.38905609 \cdots = e^2 - 7.$$

References

- [1] P. Bundschuh, Über eine Klasse reeller transzendenter Zahlen mit explizit angebbarer g-adischer und Kettenbruch-Entwicklung, J. Reine Angew. Math. 318 (1980), 110–119.
- [2] C. S. Davis, On some simple continued fractions connected with e, J. London Math. Soc. **20** (1945), 194–198.
- [3] J. L. Davison, A series and its associated continued fraction, Proc. Amer. Math. Soc. **63** (1977), 29–32.
- [4] J. Elianu, Sur le nombre $[\alpha, \alpha+\beta, \alpha+2\beta, \ldots, \alpha+n\beta, \ldots]$, Rev. Roumaine Math. Pures Appl. **20** (1975), 1061–1071.
- [5] A. Hurwitz, Über eine besondere Art der Kettenbruch-Entwicklung reeller Grössen, Acta Math. 12 (1889), 367–405.
- [6] A. Hurwitz, Über die Kettenbruch-Entwicklung der Zahl e, Schriften der physikalisch -ökonomischen Gesellschaft zu Königsberg in Pr., Jahrgang **32** (1891) 59–62 (in Mathematische Werke von Adolf Hurwitz, Band II, Birkhäuser, Basel, 1933).

- [7] A. Hurwitz, Über die Kettenbrüche, deren Teilnenner arithmetische Reihen bilden, Vierteljahrsschrift der Naturforschenden Gesellschaft in Zürich, Jahrg. 41 (1896) 34–64 (in Mathematische Werke von Adolf Hurwitz, Band II, Birkhäuser, Basel, 1933).
- [8] M. Jani and R. G. Rieper, Continued fractions and Catalan problems, Electronic J. Combin. 7 (2000), #R45.
- [9] W. B. Jones and W. J. Thron, *Continued Fractions: Analytic theory and applications*, (Encyclopedia of mathematics and its applications; vol. 11), Addison-Wesley, Reading, 1980.
- [10] T. Komatsu, On Tasoev's continued fractions, Math. Proc. Cambridge Philos. Soc. **134** (2003), 1–12.
- [11] T. Komatsu, On Hurwitzian and Tasoev's continued fractions, Acta Arith. 107 (2003), 161–171.
- [12] T. Komatsu, Simple continued fraction expansions of some values of certain hypergeometric functions, Tsukuba J. Math. 27 (2003), 161–173.
- [13] T. Komatsu, On Tasoev's continued fractions and Rogers-Ramanujan continued fractions, preprint.
- [14] D. H. Lehmer, Continued fractions containing arithmetic progressions, Scripta Math. **29** (1973), 17–24.
- [15] L. A. Lyusternik and A. R. Yanpol'skii (eds), *Mathematical Analysis* Functions, Limits, Series, Continued Fractions (Russian); English transl. by D. E. Brown, Pergamon Press, Oxford, 1st ed. 1965.
- [16] K. R. Matthews and R. F. C. Walters, Some properties of the continued fraction expansion of $(m/n)e^{1/q}$, Proc. Cambridge Philos. Soc. 67 (1970), 67–74.
- [17] C. D. Olds, Continued Fractions, Random House, New York, 1963.
- [18] O. Perron, Die Lehre von den Kettenbrüchen, Chelsea reprint of the 1929 edition (§29–§32, 126–138), 1950.
- [19] C. G. Pinner, More on inhomogeneous Diophantine approximation, J. Théorie des Nombres de Bordeaux 13 (2001), 539–557.

- [20] A. J. van der Poorten, Continued fraction expansions of values of the exponential function and related fun with continued fractions, Nieuw Arch. Wiskd. 14 (1996), 221–230.
- [21] M. Queffélec, Transcendence des fractions continues de Thue-Morse, J. Number Theory **73** (1998), 201–211.
- [22] J.-P. Allouche, J. L. Davison and M. Queffélec, Transcendence of Sturmian or Morphic continued fractions, J. Number Theory 91 (2001), 39–66.
- [23] A. Robertson, H. S. Wilf and D. Zeilberger, *Permutation patterns and continued fractions*, Electronic J. Combin. **6** (1999), #R38.
- [24] P. Stambul, A generalization of Perron's theorem about Hurwitzian numbers, Acta Arith. **80** (1997), 141–148.
- [25] J. Tamura, A class of transcendental numbers having explicit g-adic and Jacobi-Perron expansions of arbitrary dimension, Acta Arith. **61** (1995), 301–329.
- [26] B. G. Tasoev, Certain problems in the theory of continued fractions (Russian), Trudy Tbiliss. Univ. Mat. Mekh. Astronom. 16/17 (1984), 53–83.
- [27] B. G. Tasoev, Rational approximations to certain numbers, Mat. Zametki 67 (2000), 931–937; English transl. in Math. Notes 67 (2000), 786–791.
- [28] D. S. Thakur, Patterns of continued fractions for the analogues of e and related numbers in the function field case, J. Number Theory **66** (1997), 129–147.
- [29] H. S. Wall, Analytic theory of continued fractions, D. van Nostrand Company, Toronto, 1948.